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1. DU BERHE R EL em N RAL Y 40 BORA AL .

Following data represent length of 40 ribbons in cm.

20 52 44 45 26 33 35 40

35 34 45 30 36 29 27 53

33 46 39 47 37 35 54 40

42 36 37 49 42 33 48 54

24 34 44 38 38 42 41 43

a. EIPIF5E M F# .. Rewrite and complete the table below.

K length BEY ATk A5
(cm) Frequency Accumulative Upper boundary
Frequency

20-24
25-29
30-34
35-39
40-44
45-49
50 -54

b. MR RN E— BB Z U, (AR AKPHE: 2cm /AR 5em, FEEHIE: 2em R
% 5 BtE4ir) Draw an ogive according to the table above. (Scale: 2cm represent 5¢cm at horizontal
axes, 2cm represent 5 ribbons at vertical axes)

c. M bR IET, SKKEKT 47cm BRI H 2 L.

From the ogive, calculate the percentage of the ribbons which the length longer than 47cm.
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